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QUESTION BOOKLET Q.B. Number:
28 e
Post: Junior Draftsman / §J€T: 78Md TecHHS
INSTRUCTIONS (foerfest) Q.B. Series: D
Roll Number:
9% 399 ;

Please read the following instructions carefully

1) Mark carefully your Roll Number and series of the paper
on the OMR Answer Sheet and sign at the appropriate
place. Write your Roll number on the question booklet. /

fimrsyges ©mmig 839 Hie 3 M 3% 589 »3 Tug € &1 .
3 fors B8 M3 At AqT 3 IHI™HT FS| YHS YA 3 My
3% a59 f&)

2) Strictly follow the instructions given by the Centre
Supervisor / Room invigilator and those given on the

Question Booklet. / deg € fodiua/ aHa € fadhua enrar w3
YHS YAT3aT 3 fedft areint faerfest e ydt 397 use 93

3) Please mark the right responses ONLY with Blue/Black
ball point pen. / fggur g3d At €739 3 A< J1B/TS TBUS 575
forTs Farg|

4) Candidates are not allowed to carry any papers, notes,
books, calculators, cellular phones, scanning devices,
pagers, blue-tooth devices, I-pads and any other electronic
devices to the Examination Hall. Any candidate found
using, or in possession of such unauthorized material,
indulging in copying or impersonation or adopting unfair
means, is liable to be summarily disqualified and may be
subjected to penal action./ SHfeeat & iftmr g feg Jet
IO, &SH, UASd, d8dscd, HE®d @6, Adisd Sudds, Udd,
98¢8 Guads, Met U3 »i3 Jet J9 fedacfed Buads femrge
feaas adt 31 far & ftesg o™ 39% J9s A IF Tl A
far magfes Idtar musBe Aiagz mifadt wenmfafgz miardt <t
293 J9C U AT 7 »ifadht St fise 3 §Hg 393 »iviar J99
fegT 7 Ager d M3 B8R & A < fedt 7 At J1

5) After finishing the examination, hand over the complete
guestion booklet and the OMR Answer Sheet. DO NOT
carry the question booklet or any part of it, outside the

examination room. Doing so, is a punishable offence. /
ity & mmust 3 amie, ydt yas uRfsa w3 ©mmig 839 Hie
251 Yus yrfsar At ferer gt & fomm Yiftmr € avg I a9 &7 &
| WA JI&T HATHAl MUTT J

6) The test is of objective type. This Question Booklet
contains a total of 100 questions and the total time allotted

is 120 Minutes. / lftmrm &7 yarg sgfeagsdft (Hsdtus gifen) Jdi
fer yis yAf3ar fi€e 100 yrs AiHs g5 »3 98 AHT 120 fHe 31

7) Each objective question is followed by four responses.
Your task is to choose the correct response and mark your
response on the OMR Answer Sheet and NOT on the

Question Booklet. / 739 gdfeast (HatUs IUn) yis € 99
§33 I51 393" IH At €39 <t I FIET M3 g Hie 3
wryE 739 3 forrs sar@eT J &7 g yrs ynAf3ar 31

8) Candidate is required to attempt all questions. All
qguestions carry 1 mark each. There will be NEGATIVE
MARKING. 0.25 marks will be deducted for each wrong

Answer. /| §Hfeeg B¢t A3 YHE J9aT AgdT JI I3 YIS 1 »d &7
J I3 I®3 €739 mEfh Fdifes Hafdar € 39 3 0.25 wig e A4l
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Which of the following devices is used to
measure fluid pressure?

A) Manometer

B) Liquid Meter

C) Nanometer

D) Hydrometer

In a simply supported beam of 10 m span having
udl of 8 kN/m, the maximum Bending Moment
shall be

A) 80 kN/m

B) 100 kN/m

C) 0.8 kN/m

D) 10 kN/m

Which type of masonry uses well-dressed stones
with sharp, straight and smooth faces?

A) Ashlar

B) Random

C) Rubble

D) Squared

Tie member in a Steel truss is subjected to
which of the following?

A) Bending moment

B) Tension

C) Compression

D) Torsion

The property by virtue of which a deformed body
springs back to its original position after
removing the external force is known as

A) Plasticity

B) Elasticity

C) Ductility

D) Tenacity

T< geM Hue ¢ fors &9 faa3 Quage e
fem3nms o3 wrer 97

A) RéHiea

B) feafes Hieg

C) zaHieg

D) getaHies

FUTas 39 ‘3 10 Hl. Ssm @8 rHafes Hiv e
8 kN/m. udl Je J, ferer mifgaay Sfsar yie J2ar

A) 80 kN/m

B) 100 kN/m

C) 0.8 kN/m

D) 10 kN/m

fam 39t <t faeerdt fea ydt 37 f3mma o3 e 134,
fHT w3 mH3s Uaa’ = fersyms o3 Ater 37

A) WMHS A IIH

B) ¥4 7 g3t

C) a5

D) =gdrartg

HAts 2an fegsT afimr gfaT fons fiE9 fam € nf3gas
wrger 37

A) Efsauie

B) ¢n&

C) Hiftzs

D) Sans

€3 g fam <t feimsT € 99 fegas @3t gadt 9
Jege 3 gmiE mruet U AfeSt fieg Tum mrgent
6, G fagr 7T J

A) usHfefdt

B) femsmfefiet

C) safefset

D) feafiet
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10.

Safe Bearing Capacity is equal to

A) Ultimate Bearing Capacity / Factor of Safety
B) Ultimate Bearing Capacity x Factor of Safety
C) Factor of Safety / Ultimate Bearing Capacity
D) Ultimate Bearing Capacity x 2

Excavation of soil for foundation is measured in
A) Metre

B) Square metre

C) Cubic metre

D) Lump sum

Depth of foundation for any structure is
determined by

A) Ranson's formula

B) Reynolds formula

C) Roosevelt's formula

D) Rankine's formula

In surveying, Theodolite is used for which of the
following recording purposes?

A) Linear measurement

B) Angular measurement

C) Magnetic meridian

D) Magnetic dip

Building bye-laws of local municipal authorities
govern which of the following?

A) Quality of construction

B) Time period of construction

C) Rate of construction

D) Front and Rear setbacks

Hafe3 Afde AvdET fere ga9g 9

A) oM AfIS AHTET / HEfmT Irad

B) 99H AfdE AHIE X HSYMT Jad

C) Waftm g7 / 99H AfTS AHgET

D) 99+ AfgE AHTET X 2

3T e wet et €t it aret yerdt wnft wiEt 9
A) Heg feg

B) <gar Hieg f<g

C) we Hieg feg

D) fex w3

foan 3= &t afg <t arfgaret fem enrar feguras it
GICil]

A) I&HE TIHBT

B) J&®3H egH®T

C) THBC & SIHHT

D) 3fas & eraysT

Ho<ye fog, faG3ardie e ferm3ns fors fed farn &
fgdas d9s set 3T AreT J7?

A) It vy

B) det vy

C) dadft Hitms

D) gudt f3u

. A3l &g fead mifgardnt @ ges Gu-fau, fors

&g fan & fewsfas gae 98?
A) feare &t g3

B) feavre &t AHt et

C) feane &t =3

D) HEah »3 fUgsgnt gareet
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11.

12.

13.

14.

15.

Which type of foundation is preferred in places 11.

where heavy concentrated loads are to be
distributed over the whole floor area?

A) Spread

B) Stepped

C) Pile

D) Raft

Which of the following climates is most suitable 12.

for providing a courtyard in a building?
A) Warm and Humid

B) Hot and Dry

C) Cold and Humid

D) Coastal

Bearing Capacity of soil is defined as 13.

A) Maximum load / Unit depth
B) Maximum load / Unit area
C) Minimum load / Unit depth

D) Minimum load / Unit area

What shall be the quantity of masonry required 14.

forawallof 1 mx2 mx 0.3 m?
A) 0.2 cubicm

B) 0.6 cubic m

C) 600 cubic m

D) 0.06 cubic m

The correct sequence of stages for survey in 15.

highway alignment is

A) Map study, Preliminary Survey,
Reconnaissance and Detailed Survey

B) Preliminary Survey, Map Study,
Reconnaissance and Detailed Survey

C) Reconnaissance, Map Study, Preliminary
Survey and Detailed Survey

D) Map study, Reconnaissance, Preliminary

Survey and Detailed Survey

fAgst et '3 Ud 35 U39 § It THIT &1 B AT
Jer J B8 fan yarg €t dfg g Iadta fedt aret 37

A) A3

B) Udtes

C) et 7 &y geT &
D) 3

far fenrgz e fegs Jue Bt fans &9 faasr
ASTH <7 ga< J?

A) four w3 s

B) d19H 3 Ha

C) 33" m3 fHgr

D) Je=ast

it €t Afae mydeT 3 fer 397 ufgeriyz dfisT wfer
A) mfgazH 373 / fearet arfgaret

B) »ifuaaw 379 / fearet 43de®

C) faQs3H 979 / fearet arfgaret

D) fs@a3H 79 / fearet u39es

1 vt x 2 Ht x 0.3 vt &t Ju Tm3 fee faeerdt &t HzTr
foat I2aft?

A) 0.2 we M.

B) 0.6 we Hi.

C) 600 w= Ht.

D) 0.06 w<e H.

IHTd Hugd! &9 Ageye € 99 @ At @i J

A) daH T oifns, maTsd Aa—Ye, HEST fadhue M3
fergrg Afg3 Ha—YS

B) »afgd nacy<s, san € mifis, HesT fadhue w3
fergrg Afg3 Ha—ye

C) vee fadhie, san & mifons, nidfsd Facus w3
fergrg Afg3 Ha—ye

D) san € miftpils, Hes' fadtue, widfga Aagyue w3
fergrg Afg3 HI—YS
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16.

17.

18.

19.

20.

What is the standard dimension of brick

recommended by the Bureau of Indian

Standards?

A) 19cmx9cmx9cm

B) 19cmx10cm x 9 cm

C) 19cmx10cm x 10 cm

D) 19cm x 10 cm x 19 cm

Which is the most water-efficient irrigation

system?

A) Surface

B) Flood

C) Drip

D) Sprinkler

Which of the following defines the Slenderness

Ratio of a steel column?

A) Effective length of column / least width of
column

B) Effective length of column / net load on
column

C) Effective length of column / least radius of
gyration

D) Effective length of column / moment of inertia

Contour lines in a map are the lines connecting

points having

A) Same elevation

B) Same angle

C) Same curve

D) Same distance

What is the definition of Strain?

A) Deformation per unit length

B) Force per unit length

C) Force per unit area

D) Deformation per unit area

17.

18.

19.

20.

. 9733t vag fa8d enrar fee &t flrdt wrarg faer

i famum 32

A) 19 A x 9 At x 9 AL

B) 19 &Mt x 10 fLt. x 9 fLf.
C) 19 fft. x 10 f1.HF. x 10 fMf,
D) 19 At x 10 7.t x 19 A,

A 3 mifta As-yg<t et yerat faadt 97

A) AT

B) &%

C) fgu 7 ua

D) @

fors f&d fags e 8y € A&39dH A gdtdt nigut
8 ufggrfhis gger 37

A) 8y &t ygr<t maret / g & wie 3 we I3

B) ®y &t ygr<t wureh / By €3 Hu &3
C) &y &t ygr<t 38t / g =7 ue 3 ue gy femmr

D) &y &t ygr<t waret / 7337 y=at

/e e

A) Suret mirs It 9
B) d< AN geT d
C) TJ3 AN g7 J
D) =t ms Jet J

Hea df ufggmr off 97

A) fegaz y3t fearet sareh
B) =3 yI fearet saret

C) s y3t feardt u439es
D) feagz y3t fearet 439
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21.

22.

23.

24.

25.

In PCC (Plain Cement Concrete) of ratio 1:2:4,
the ratios stand for which of the following?

A) Water : Cement : Fine aggregate

B) Fine aggregate : Coarse aggregate : Cement
C) Cement : Fine aggregate : Coarse aggregate
D) Cement : Coarse aggregate : Fine aggregate
If the forces in the members of a structure as
well as the reactions can be found by the
conditions of equilibrium, then it is known as

A) Statically stable

B) Statically unstable

C) Statically determinate

D) Statically indeterminate

In an under reinforced section, the depth of

actual neutral axis is

A) less than the maximum depth of neutral axis
or Xy < Xumax

B) more than the maximum depth of neutral axis
or Xy > Xumax

C) equal to the maximum depth of neutral axis
or Xy = Xumax

D) equal to the half of depth of beam or X, = d/2

Which of the following IS codes is used for

designing concrete structures?

A) 1S: 234

B) 1S: 800

C) IS: 345

D) IS: 456

Floor area ratio as per National Building Code is

A) Total built up area / Plot area

B) Plot area / Total built up area

C) Total ground floor area / Plot area

D) Ground floor area / Total built up area

21.

22.

23.

24.

25.

1:2:4 »i3urz ¥ PCC (U&s HiHe ddte) feq, feg

mguT3 faHs &9 fan & gar@er 37

A) uret : Hine : wdts gadt

B) Wt gwidt : #et gadt @ Hide

C) e : vdts gadt | 1t gmidt

D) wiHe : 1t gadt : Hdts gadt

A9 fan HIga' € B9 € 98 € 378-5'8 YIifafonret

T UIT H3SE it Afgdut enraT Sarfen AT AgeT J,

I fer g fagrAter I

A) nfgg 39 '3 AfEg

B) wfgg 39 '3 nmfaa

C) wfga 39 '3 fouz

D) wfgg 39 '3 mifew3

YgSs € »3gas s 8 ga1 feg, Tm3fed

fegaras ga =t arfgaret

A) fegaas uad =t mifagasy arfaaret 7F X, < Xumax 3
we gt I

B) fegaras ua €t wifgasw afgaret 7t Xy > Xumax 3
B REik]

C) fegaas ud =t mifgaar aifgaret af Xy = Xumax ©
g9Te9g 9ot J

D) =ty <t arfgaret € »ig Af X, = d/2 € g9r99 It 9

ddle Hauaet € fsarets B¢t fors fed fam IS d3 &
fem3nTs dft3T wrer 97

A) IS: 234

B) IS: 800

C) IS: 345

D) IS: 456

Hes fafsa a3 € MEHTd 3% 43de8 WU J
A) 5 f5afH3 U398% / USTe €7 U3d8H

B) Uz € 43de8 / & faath3 4398w
C) 9% 3-3% U3JeH / UB'C T 43JeS
D) 3-3% 439e® / I8 f5ath3 ¥3Jes
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26.

27.

28.

29.

30.

Which of the following instruments is used in
plane table survey?

A) Dumpy level

B) Tilting level

C) Alidade

D) Vernier scale

Which of the following tests is performed to
determine the bearing capacity of cohesionless
soil?

A) Rankine apparatus test

B) Vicat apparatus test

C) Penetration test

D) Remote sensing test

What shall be the cost of construction of a
building with 300 sq.m of plinth area having
plinth area rate of Rs. 15,000 per sq.m?

A) Rs. 25 lakhs

B) Rs. 35 lakhs

C) Rs. 45 lakhs

D) Rs. 55 lakhs

What is the main ingredient in ordinary portland
cement?

A) Alumina

B) Gypsum

C) Silica

D) Lime

The surface course of flexible pavements is
generally made of

A) Hot mix molybdenum

B) Hot mix concrete

C) Hot mix asphalt

D) Hot mix moorum

26.

27.

28.

290.

30.

UZE 9% HIQ 7T AH3S HA Agye Bt fors fed
fagz Guads =afamm AeT I?

A) 3t 8=z

B) fesfda 3=

C) wtee

D) I9ata AIS

Az3afas Wt &t nfae mvde fsgufas a9s sEt fors
& faadt uay st A<t 372

A) dfgs Guaaes uay

B) =fde Suages udd

C) Ufsews 7 Y21 Uy

D) €3 Aeet uay

300 =M. € »urg ¥39es @@t foHrg3 g gerge «f
a3 foat I3t Add Mg Y39 <7 32 15, 000 3.
yIt et 32

A) 25 By gue

B) 35 Bk qu®

C) 45 &4 gug

D) 55 B4 gu®

HUGS Udess HiHe feg uen Are @& Yy 33
fags 32

A) e

B) frumH

C) firedtar

D) 9o

SIH Uiz St &t Az 39 '3 for & st gt 9

A) draH tHrfa3 HfsessH
B) graH fHufas d¢fte
C) draH thafaz 3tHa
D) dr9H tHrfa3 HaH
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31.

32.

33.

34.

35.

36.

Punjab shares its capital with which of the
following state?

A) Jammu and Kashmir

B) Utter Pradesh

C) Haryana

D) Himachal Pradesh

Which is state bird of Punjab?

A) Baaz

B) Peacock

C) Sarus

D) Hen

The First Anglo-Sikh War was fought in
A) 1845

B) 1857

C) 1876

D) 1878

What is the local name of slash and burn
agriculture in Madhya Pradesh?

A) Milpa

B) Bringa

C) Bewar or Daliya

D) Khil

When was National Solid Waste Association of
India set up?

A) 25th January 1996

B) 29th January 1998

C) 25th January 1990

D) 30th January 1992

In June 1839, Maharaja Kharak Singh
succeeded his father

A) Ranijit Singh

B) Nau Nihal Singh

C) Duleep Singh

D) Kirat Singh

31.

32.

33.

34.

35.

36.

Urrg &t gust fens 9 faa3 yi3 &t gwuat o
At 37

A) 7 w3 Tt

B) €59 y@w

C) dfgmrer

D) foHes yen

U = gt Uet faaaT 37

A) g4

B) Ha

C) wgH

D) gzt

ufgeT #arS-Hy wu fon €t ‘g st faprr

A) 1845

B) 1857

C) 1876

D) 1878

Harst <t gerdt g9a W3 A% o R FETs '3 gdterEt
I95 & HU YeH g fan mamat s &8 Afen wier 37
A) tzur

B) far

C) §=r3 7 T

D) fus

] BHES HISS THS WRIHEHS 7 9156 J¢ 13T
famr H?

A) 25 TAaedt 1996

B) 29 wa=dt 1998

C) 25 #&=dt 1990

D) 30 wa=dt 1992

A 1839 f&g, Horgr y3d fHw »mud fuzr ... &t
Jret 3 Sfomr

A) g3 iy

B) 3 faors fHw

C) =&y fifw

D) sfta3 fiw
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37.

38.

39.

40.

41.

Punjab shares its border with which of the
following countries?

A) China

B) Pakistan

C) Nepal

D) Afghanistan

Which of the following is located in the South of
Punjab?

A) Shimla

B) Lahore

C) Haryana

D) Jammu and Kashmir

In which area of Punjab "Rural Olympics" sports
are held?

A) Moga

B) Ludhiana

C) Muktsar

D) Kila Raipur

The Hindustan Antibiotic Plant is located at?
A) Pimpri

B) Hyderabad

C) Rishikesh

D) Kolaba

What is the Punjabi language story telling
tradition called?

A) Qissa

B) Poem

C) Kahani

D) Novel

37.

38.

39.

40.

41.

Ui &t Hin fons &9 faa3 en o Saret 97
A) 9t

B) ufansts

C) U

D) medrfen3Ts

fons &9 fags 439 Uamg € Tu< feg Afas 37
A) s

B) mrda

C) fgmrer

D) #y w3 smte

Ure € faa3 U39 fee “U3 Eafuan” a3t & mids
o3 7reT 32

A) Har

B) sfimrer

C) Ha3Hg

D) far aveyg

foenzs ridtafebfea uste fag Afas 97

A) fdudt

B) dJeg=e

C) forftam

D) dsmer

Urrdt g feg ot garet o faerfedt 39 '3 ot faar
e J?

A) famr

B) afesr

C) gt

D) s<%&
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42.

43.

44,

45.

46.

In which of the following State Barauni Thermal
Power Plant is located?

A) Chhatisgarh

B) Bihar

C) Gujarat

D) West Bengal

In which city of Punjab is the main campus of the
Punjabi University situated?

A) Chandigarh

B) Amritsar

C) Patiala

D) Bathinda

Punjab is called the "Land of Five Rivers", which
are those five rivers?

A) Sutlej, Ravi, Beas, Jhelum, Chenab

B) Sutlej, Ravi, Beas, Ganga, Yamuna

C) Sutlej, Ravi, Ganga, Chenab, Jhelum

D) Ganga, Yamuna, Chenab, Ravi, Beas

The festival celebrated on 13th January every
year, in Punjab is:

A) Teej

B) Lohri

C) Baisakhi

D) Diwali

The festival celebrated in Punjab to mark the
formation of Khalsa Panth is:

A) Baisakhi

B) Basant Panchmi

C) Holla Mohalla

D) Shaheedi Jor Mela

42

43.

44,

45.

46.

J7?

A) 3Hag

B) faua

C) I3

D) UaHt gars

yre € faoz Afgg feg Uardt wateafidt & vy dum
AfE3 37

A) S

B) »ffizHa

C) Ufenrsr

D) sfesT

Urre g "Ud efgmret €t gadt" fagr wier 9, feg uA
efgn fag3 I87?

A) 735, I, fom, fagsH, s

B) w33, I, famm, afam, AHeT

C) W33+, I, dlar, 9&, fAgsy

D) gfar, 7H&T, 9&Tg, I, fomm

Urrg fE9 99 A& 13 #a<d! & HaTfenfT Are T
f3Gaa

A) =

B) &gt

C) fermdt

D) ==t

Urrg &9 ysar U &t meusT @6 Hetfon A T
f38aa I:

A) fermdt

B) gn3 UaHt

C) J= Hdm

D) wdtet 73 vt
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47.

48.

49.

50.

51.

52.

Which among of the following is a plantation
crop?

A) Maize

B) Paddy

C) Wheat

D) Tea

What does 'ab' mean in Punjab word?

A) Color or Radiance

B) Region or Province

C) Climate or Weather

D) Water or River

State Highways are maintained by which of the
following authority?

A) State Public Works Department(SPWD)
B) Road Transport Corporation

C) National Road Authority Department

D) National Highway Authority of India
What is the state tree of Punjab?

A) Shisham

B) Sandalwood

C) Pine

D) Mango

Which power project is built on river Sutlej?

A) Hirakud Dam

B) Tehri Dam

C) Thein dam

D) Bhakra Nangal project

Bathinda is in which part of Punjab?
A) Southern

B) Southeast

C) Northwest

D) South west-central

47.

48.

49.

50.

51.

52.

foHs f&9 grargrat &t erns faadt 32

A) Wt

B) us

C) g

D) ¥T

U meEe fE9 we = off »iag 37
A) da At 9na

B) 439 = femrar

C) A= 7 HAH

D) uret 7 wfgmr

Y3t gHTgar € TY-3y foHs 9 fam fegmar emmar
St At 97

A) I 34 fegHre fegmar (mmftzefsgsh)
B) 93 ¢Hide Iaudns

C) gwmedt naa marfact fegmar

D) 3733t gedt graHTIar maTact
AT €7 gt gy faaaT 37

A) Hm

B) des

C) s

D) »fg

faadt faaet tae A3s efenT € d€ ‘3 GArdt aret
J7?

A) ftods g8

B) fegdt g

C) Hx d%

D) 33T 5d1S WS

gfesT Urarg € fag3 fan feg rfgzs 37
A) Tyt

B) gys-yadt

C) €33-uaHt

D) y< uaHi-Ha
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53.

54.

55.

56.

57.

58.

Where is the famous coal mine Jharia situated?
A) Bihar

B) Jharkhand

C) Uttar Pradesh

D) Punjab

When was Project Tiger launched in India?
A) 1973

B) 1980

C) 1976

D) 1982

On which river has Hirakud Dam in Odisha been
constructed?

A) River Kathajodi

B) River Mahanadi

C) River Brahmani

D) River Budhabalanga

Which of the following is the longest river in
Punjab?

A) Sutlej

B) Ravi

C) Beas

D) Chenab

Which of the following NH joins Machilipatnam to
Hyderabad?

A) NH9

B) NH12

C) NH7

D) NH4

In which festival people of Punjab wear yellow
costumes and fly kites?

A) Lohri

B) Basant Panchmi

C) Diwali

D) Muktsar Fair

53.

54.

55.

56.

57.

58.

& €t yfHu ure sdhr fam Afes 37

A) faag

B) sau3s

C) €33 yen

D) urrg

3793 f&g orfedg Yiae € ggn3 I Jet Hi?
A) 1973

B) 1980

C) 1976

D) 1982

G e faodt o<t € a3 Jtogs g &t Grrdt
St aret 9?7

A) FEdt st

B) Hutaet st

C) groHest &<t

D) gug®dr st

yrg € A8 3 237 SfonT fagsT 37

A) H38H
B) o=t
C) femm
D) 9=
fors fed faas Mama (Tmedt IaHTadT) HeBueaH
3 JEdEE &% 7IeT J7?
A) WEg9

B) Wreng12

C) wewa7

D) wenrgd

faa3 36079 feg yng € Sa IS a1 € Ju3 ufgse
J& M3 U3a G376 987
A) St

B) gn3 UoHt

C) et

D) HI3HT €7 H&'
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59.

60.

61.

62.

63.

Which is the folk dance of women in Punjab?
A) Garba

B) Kathak

C) Bharatnatyam

D) Giddha

What is the total geographical area of Punjab?
A) 40000 - 44000 Sq.Km

B) 45000 - 48000 Sq.Km.

C) 50000 - 55000 Sq.Km.

D) 56000 - 60000 Sq.Km

Divide x5 by x2

A) x3

B) x'0

C) x5

D) x2

The cost price of 20 articles is the same as the
selling price of x articles. If the profit is 25%, then
the value of x is:

A) 16

B) 18

C) 20

D) 14

An alloy contains lead and aluminum in the ratio
3:5. If lead has 15% impurity and aluminum
55%, what is the average impurity percentage of
the alloy?

A) 30%

B) 40%

C) 22%

D) 35%

59.

60.

61.

62.

63.

Urarg &t HiggTet & &9 &9 faasT 37
A) Jrggr

B) d&8q

C) 333&TenmH

D) fargr

UrTe €7 4% JAGSd U39eH fdar 3?7
A) 40000 - 44000 =.fa.H.

B) 45000 - 48000 =.fa.Ht.

C) 50000 - 55000 =.fa. .

D) 56000 - 60000 =.fa.Ht.

X5 &' x2 378 gq1 fe@

A) x3

B) x1©

C) x5

D) x2

20 ST T BE HS X AT € fEqdt s € AHS
I AT 25% €7 B JeT J, 3T X T HES I

A) 16

B) 18

C) 20

D) 14

feq fhrg a3 fde &3 w3 M@HiahH & migur3 3:5 Jl
799 83 €9 15% »3 maHiah feg 55% »Hu3T J,
3t fHHg U3 © WAz wEu3T I3 faer 37

A) 30%
B) 40%
C) 22%
D) 35%
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64.

65.

66.

67.

The difference between the place value and
the face value of 6 in the numeral 856973 is
A) 5994

B) 5938

C) 5956

D) 5934

During a tennis match, A Player served 60
serves, 48 of the serves were successful.
What is the percentage of the successful
serves?

A) 90%

B) 60%

C) 80%

D) 70%

y + 9 = 61, then give the value of y.

A) 52

B) 70

C) 80

D) 60

Two numbers are respectively 20% and 50%
more than a third number. The ratio of the
first two numbers is:

A) 4:3

B) 4:5

C) 34

D) 5:4

64.

65.

66.

67.

Fitmir 856973 &9 6 2 HaTal 1 w3 w3 s
fegmT »f39 I

A) 5994

B) 5938

C) 5956

D) 5934

foq 2fen 1Y € €97, fan fustdt & 60 =9 Hafen
A, fam 9 48 <9 €7 Hes faan Aes Aafer
CIRVE{ e iy

A) 90%

B) 60%

C) 80%

D) 70%

y+9=61,3y e HE U3" 4|

A) 52

B) 70

C) 80

D) 60

© At far St At 2 @1 wigera 20% w3
50% wifge I&| ufaent & Aftrret @1 wiguts J:

A) 4:3
B) 4:5
C) 3:4
D) 5:4
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68.

69.

70.

A company of 12000 employees consists of
men and women. The average age of a man
is 42, that of a woman 36 and that of the
company 40. Find the number of women in
the company?

A) 6000

B) 2000

C) 4000

D) 8000

The ratio of the first and second class fares
between two stations is 5:3 and that of the
number of passengers travelling between the
two stations by first and second class is 3:40. If
in a day Rs.1548 is collected from passengers
travelling between the two stations, then find the
amount collected from the second class
passengers?

A) Rs.1367

B) Rs.1736

C) Rs.1673

D) Rs.1376

Anand has to multiply 2 numbers together, but
he uses 47 instead of 74 and finds that the
product has decreased by 270. What is this

decreased product?

68. o duzt g uawt w3 Hivere & e § 3

69.

70.

12000 FaHaTdt I&| yart <t WAz BHT 42 7
J, Hfgeret &t »ing GHg 36 7S I w3 Juat €
ATd FIgHTTIT &t wiAs ©Ha 40 7 J1 Fust feg
Higgret &t "t uzT 337

A) 6000

B) 2000

C) 4000

D) 8000

© Hens fegarg ufast W3 g+t Het € fage & wiguts
5:3 3 w3 S newst @ fegarg ufet w3 o et fea
W3TT FI& TS T3S T wigu3 3:40 J| AT fan
fos &< HeHst fegdTd U3dT Jds 78 Wi3dt 3
1548 3. fedls i3 are, 3t et fet € wadht 3 foat
It feaat ofi St aret?

A) 1367 3.
B) 1736 3.
C) 1673 3.
D) 1376 3.
WaE & 2 Ayt &' 9T 997 J, Ud §9 74 <t sae

47 ot =33 gdeT I M3 U3T BT J fF Iesem 270 ©
"33 &% we famm wien Ifem greses fasr 3?7

A) 470 A) 470

B) 740 B) 740

C) 720 C) 720

D) 420 D) 420
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71. Fill in the blanks with the appropriate options: 76. Fill in the blanks with the appropriate options:
There isn't ___ airport nearby. __ nearest one During a protest some people turn violent and
is about 30 miles away.

A) an, the A) take the bull by the horn

B) an, no article B) take the law into their own hands
C) a,a C) lay down their arms

D) the, the D) beat about the bush

72. Fill in the blanks with the appropriate options: 77. Fillin the blanks with the appropriate options:
Could you tell me if there's ___ bank nearby? you let him know | called?

A) an A) Must
B) the B) Should
C) no article C) May
D) a D) Would

73. Fill in the blanks with the appropriate options: 78. ldentify the Plural Form of the given word:
| will post the letter if | to the market. Fungus
A) will go A) Funguss
B) am going B) Funges
C) will be going C) Fungos
D) go D) Fungi

74. Fill in the blanks with the appropriate options: 79. Fill in the blanks with the appropriate options:
Don'tworryif| ______ abit late. There is an art exhibition in the town hall and |
A) have come to see it in the evening.

B) come A) has gone
C) am coming B) will have gone
D) comes C) am going

D) have been going

75. ldentify the Plural Form of the given word: 80. Fill in the blanks with the appropriate options:
Tax He played three matches but was
A) Taxus defeated in all three.

B) Taxess A) back to back
C) Taxes B) one and all
D) Taxos C) all the same
D) over and above
Page 16 of 20
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81.

82.

83.

84.

85.

Find the antonym of the question word:
Ancient

A) Outdated

B) Traditional

C) Antiquated

D) Contemporary

Fill in the blanks with the appropriate options:

The doctor suggested that | take
healthy food.

A) used to

B) will

C) would

D) should

Identify the Plural Form of the given word:
Battery

A) Batterys

B) Batteries

C) Batteryes

D) Batterees

Fill in the blanks with the appropriate options:

| am feeling nervous. | on the
stage so far.

A) have never performed

B) am not performing

C) did not perform

D) was not performing

Find the antonym of the question word:
Conventional

A) Convenient

B) Controverisal

C) Undisputed

D) Non Traditional

86.

87.

88.

89.

90.

gor oo it X B famr faaoz = 32
A) IS =
B) AGIXS X
() AOgE X
D) AT ST T

“Ha gt ugxF” Ha=d = »igg J|
A) T fHor gsE T

B) faat A9 AHS g% =%

C) g3 frmier Sz =7

D) IU3 UiC BT BT

“feo I3 T 297 HI'=d ©F »igg ©R?
A) I3 frmier TraHEt

B) ISt IIIT

C) A= T A=z

D) A% =7 291

J?

A) T fenmax3t ==t
B) Uzt fenmx=3t =t
() 33 3 fenix=t T
D) AR fema3t &t

Jo fotemit feg ferms o)
A) Boret

B) MABMZ

C) nied

D) ferseg
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91.

92.

93.

94.

95.

96.

97.

Jo fefumi feg” Ieegx s g&|
A) H3Y

B) mfag

c) Ea

D) wHt

ez &% Tt et farHt Is?
A) &
B) 3o
C) 99
D) U

X g=39 feg fXamit fenragsx
fearstnt JSi™ g5 2

A) fEx

B) ©

R EL]

D) 9

AHGIEX Aa< g& |
A) HITET
B) HwET
C) HIIEt
D) HJIET

o Tt Xt faaHT 95 2
A) U
B) &
C) A3
D) W&

Jo foa maget feg Ju Age g
A) =TT
B) Ad3T
c) 3=t
D) fewra

UIate ot fXat™ faaHT a2
A) U
B) &
C) A3
D) W&

Space for Rough Work

98.

99.

HIZT grer ar gdt I o o fan 3 ©

W ESKIERZ US el e
A) TF TISHSG TS
B) UJod SISHS X'
C) AIST T I3HS I
D) TIBHS XH

A) UJHu<IX IS Ero1=4
B) forewx uzaie
C) formoewx uzaie
D) nifeHoeoxX UIsie

w, 3, 89 fag=s ussie I57

3_3(

100. fermz ot yag © de Io?

A) U
B) &

C) A3
D) W&
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9) Completely darken the CIRCLE so that the alphabet inside the
CIRCLE is not visible. Darken ONLY ONE CIRCLE for each
answer as shown in the example below. The CORRECT and the
WRONG method of darkening the CIRCLE on the OMR sheet are

given below. / difent & ydt 337 I® 99 3ffa I € »ieg f&3
TISHST & miyd & feye| Jat Beads 99 feue e »igag g
39 Bt d=s q 18 & & 94| §Ta Hie 3 318 3 I8 d9s

=1 At w3 %3 Itar Jat fE3T famr J

Correct Method Wrong Method

At 3dtar %3 Idtar
==l W= D O &

56 D8

10) In view of the tight time span, do not waste your time on a
question which you find to be difficult. Go on solving questions one

by one and come back to the difficult questions at the end. / #H €7
fims Jue I8, HAfIS YyAs 3 MU AHT sHe &7 ad | fea-fea
=t 3fim 33|

11) DO NOT make any stray marks anywhere on the OMR
Answer Sheet. DO NOT fold or wrinkle the OMR Answer Sheet.
Rough work MUST NOT be done on the answer sheet. Use your

test booklet for this purpose./ &g Hie 3 fa3 <t It Syar
fors &1 BarQ| ©mmrg Hie 3 &1 13 #f & Jt fem 3 e Ul Ie

7t T JH §39 Hie '3 famas & ad| for aH B vyt i
yAfser &t ft =93 3|

12) Questions are in both English and Punjabi. If any
confusion arises in the Punjabi version, please refer to the
English version_of the question. /W w3 ywret It
It {89 951 Agg UnTHt ARade f&u adt uamat 3, 3t faour
mwémﬁﬁm?mﬁmﬁl

13) OMR Answer Sheets will be processed by electronic
means. Invalidation of the OMR Answer Sheet due to its
folding/ wrinkling or putting of stray marks on it or due to
any other damage to it as well as incomplete/ incorrect
filling of the Answer Sheet or overwriting on the oval or use
of whitener, will be the sole responsibility of the candidate. /
Smmrg §33 Hiet 3 fessagisa fedt enmar afg it At fere
W3/ ¢ uge 7t Jet Sud fors s #f fAd fa @39 die &
WyI/a%3 391 378 FI&T AT A G UT feye AT HeE das T U
dt 293 &8 feHg ¥ae J95 98 AHng 839 Hie € nyHfes
Jd< 3 At ffiedt Gteeg &t d=afh
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